Chapter 4

Interaction with External
Sources

4.1 Classical Fields and Green’s Functions

We start our discussion of sources with classical (non-quantized) fields. Consider

L= 5(0u(2))* = gm*¢(2)* + J(2)d(2)

Here J(z) is a non-dynamical field, the source. The equation of motion for the
dynamical field (¢(z)) is
(0% +m?)p(x) = J(x). (4.1)

The terminology comes from the more familiar case in electromagnetism. The
non-homogeneous Maxwell equations,

vV-E=p, VxB-0yE=J

have as sources of the electric and magnetic fields the charge and current densities,
p and J, respectively. We can go a little further in pushing the analogy. In terms
of the electric and vector potentials, Ayp and A, respectively, the fields are

E=-00A -V A, B=VxA
so that Gauss’s law becomes
—0yV - A- V%A = P
In Lorentz gauge, V - A+ dyAg = 0 this takes the form
9*Ag=p.

o6
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This is exactly for the form of (4.1), for a massless field with the identification Ag
for ¢ and p for J. In Lorentz gauge the equations satisfied by the vector potential
are again of this form,

PA=TJ
The four vector J* = (p, J*) serves as source of the four-vector potential A*. Writ-
ing

O2A* = JH

is reassuringly covariant under Lorentz transformations, as it should be since this
is where relativity was discovered! Each of the four components of A" satisfies the
massless KG equation with source.

Consider turning on and off a localized source. The source is “on,” that is
non-vanishing, only for =T <t < T. Before J is turned on ¢ is evolving as a free
KG field (meaning free of sources or interactions), so we can think of the initial
conditions as giving ¢(z) = ¢in(z) for t < =T, with ¢i,(2) a solution of the free
KG equation. We similarly have that for ¢t > T" ¢(x) = pout(z) where ¢oyi(z) is a
solution of the free KG equation. Both ¢i,(x) and ¢yt () are solutions of the KG
equations for all ¢t but they agree with ¢ only for ¢t < =T and ¢ > T', respectively.
Our task is to find @out(x) given ¢in(z) (and of course the source J(z)).

Solve (4.1) using Green functions:

0(@) = dnom(2) + [ d'yGla-1)J () (42)
where the Green function satisfies
(02 + m?)G(z) =6 (x) (4.3)

and ¢pom(x) is a solution of the associated homogeneous equation, which is the
KG equation,
(02 + m?)hom () = 0.

We can use the freedom in ¢pom () to satisfy boundary conditions. We can deter-
mine the Green function by Fourier transform,

Then

+m)f(2)4' G(k) = f(2)4“”(k2+m)a(k;) f(2)4‘~

so that

k2 —m2°
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So preliminarily take

d4k‘ eik~:1:

(2m)* k2 —m?
However, note this is ill-defined since the integrand diverges at k% = m?2. The
integral over k° diverges at k¥ = +V/ k2 +m?2, or k¥ = +Fj} for short:

G(x)=-

1.0
ezkt

f s F-E)(K+Ey)

This integral can be thought of as an integral over a complex variable z along a
contour on the real axis, Re(z) = k%, from —oo to co. Then the points z = +E;
are locations of simple poles of the integrand, and we can define the integral by
deforming the contour to go either above or below these poles. For example we
can take the following contour:

Im(z)

/N /N
—E]; Efc k‘o = Re(z)

Regardless of which deformation of the contour we choose, the contour can be closed
with a semicircle of infinite radius centered at the origin on the upper half-plane if
t >0 and in the lower half-plane if ¢ < O:

Im(z) Im(z)
t>0 t<0

- - - K =Re(2)
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because he integral along the big semicircle vanishes as the radius of the circle is
taken infinitely large. For the choice of contour in this figure no poles are enclosed
for ¢ > 0 so the integral vanishes. This defined the advanced Green’s function,
Gagqv(z) =0 for t > 0. Alternatively we can “displace” the poles by an infinitesimal
amount —ie, with € > 0, so they lie just below the real axis,

Im(z)
x 7 X 0 _
—-Ej —ie Ep —ie k7 = Re(2)
Then we have
dk 1
Gadv(x) == f 4 ezk-x 7
(2m) (KO +i€)? — k2 —m?
Similarly, the retarded Green’s function is
d‘k 1
Gret($) == 4 ezk~m 7
@1 (W —ie2_FZ_m?

with the contour bellow the two poles. It has Gret(z) =0 for ¢ < 0. For later use it
is convenient to write

i [ 1 o it —iEgt ]

ret(x)——Q(xO)f ar )4 R _QME (eFrt — 7P )
--i0°) [ (dk ) (eih — emik) (4.4)

b 1 Lt —iEgt ]

Gaav(z) = 0(- :Uo)f (2 )4 -QWZE (eE s )

= if(-2°) f (dk) (e - ik (4.5)

We also note that one may choose a contour that goes above one pole and below
the other. For example, going below —F; and above +E; we have

Gp(x)=- d'k etk 1
A (2m)t " (KO- E +ie) (k0 + By — ie)
(A e 1 (4.6)

en)t S (2 —m?tic)

=i[9(ﬂ:0)f(dk)e‘““'z+0(—x0)f(dk;)eik'w]
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In the solution (4.2), for 2% < T the integral over 4° only has contributions
from z° — y° < 0, and for 2° > T it has contributions only from z" — 4" > 0. So we
have

0(2) = 6u(@) + [ d'yGrala - )J(y)
= dous(@) + [ 'y G (2 =) (1)
Hence we can write
Gout(2) = Gua(@) + [ 4y [Gres(@=1) = Guaar (=) ] ()
= (@) + [ dyGO@-1)I(y) (47)

G) can be obtained from the difference of (4.4) and (4.5). But more directly we
note that

X > Y - 70\ > 70\
is the same as
> X, + 0\ «—\
The straight segments cancel and we are left with
This gives
Ak s 1 ; ;
(p) = — —ik- L Bt it
G\ (z) = (271-)46 i |:27TZ2EE (k! — ek )]
- [(dk) (eiE,;t—iI?:@ _ e—iE,;t—il?:@)
=i [ 05k - 2 (o — e
(2m)?
: d'k 0 2 2y ik
= (2ﬂ)35(k )o (k" —m*)e"™™
where

+1 KY>0
=(k") = {—1 k0 <0



4.2. QUANTUM FIELDS 61

You may have noticed that this looks a lot like the function A (z) = [¢(*) (2), () (0)].
In fact, computing the commutator of free fields at arbitrary times,

[¢(x), 0(y)] = f(dk)(dk')[aléefik'x + a%eik'w,ak’e’ik"y " a£’eik’-y]

- [ (dk) [ 2) _ ik (-0))
= iG I (y-2z) = -iGO)(z -y)

4.2 Quantum Fields

We now consider equation (4.1) for the KG field with a source in the case that
the field is an operator on the Hilbert space F. The source J(x) is a a c-number,
a classical source, and still take it to be localized in space-time. Suppose the
system is in some state initially, well before the source is turned on. Let’s take the
vacuum state for definiteness, although any other state would be just as good. As
the system evolves, the source is turned on and then off, and we end up with the
system in some final state. Now, in the classical case if we start from nothing and
turn the source on and then off radiation is produced, emitted out from the region
of the localized source. In the quantum system we therefore expect we will get a
final state with any number of particles emitted from the localized source region.

Then ¢(z) = ¢in(x) is the statement that for ¢ < =T ¢ is the same operator
as a solution to the free KG equation. Likewise for ¢ = ¢gyt for ¢ > T'. Does this
mean ¢out = Pin! Surely not, it is not true in the classical case. Since ¢ satisfies
the equal time commutation relations, i[0;é(x), d(y)] = 64 (Z - §), etc, so do
dout and ¢iy. Since the latter solve the free KG equation, they have expansions in
creation and annihilation operators, and the same Hilbert space. More precisely,
we can construct a Fock space Fi, out of a;rn, and a space Foyt out of alut. These
spaces are just Hilbert spaces of the free KG equation, and therefore they are
isomorphic, Fin ~ Fout # FKa. So there is some linear, invertible operator S :
Fra — Fka, 50 that |)out = S7Htb)in. Since the states are normalized, S must
preserve normalization, so S is unitary, STS = §ST = 1. The operator S is called
the S-matrix.

Let’s understand the meaning of [¢))out = ST|¢))in. The state of the system
initially (far past) is |1)in. It evolves into a state [t))ou = ST[t))in at late times,
well after the source is turned off. We can expand it in a basis of the Fock space,
the states |l§:1,...,l;:n) for n = 0,1,2,... In particular, if the initial state is the
vacuum, then the expansion of S T|O) in the Fock space basis tells us the probability
amplitude for emitting any number of particles. More generally

out{X[¥)in = in{X|S[¥)in
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is the probability amplitude for starting in the state [¢)) and ending in the state
|x). Note that the left hand side is not to be taken literally as an inner product
in the same Hilbert space of free particles (else it would vanish except when the
initial and final states are physically identical, i.e., when nothing happens).

Now, ST¢i,(x)S is an operator acting on out states that satisfies the KG equa-
tion. Similarly, if my, () = Oy (), STmn(x)S acts on out states. Moreover, the
commutator [STem(2)S, STrin(y)S = ST[dm (), Tin(¥)]S = [¢m(z), mm(y)] since
the commutator is a c-number and StS = 1, and similarly for the other commutators
of S Tgbin(x)S and STmn(x)S . This means that up to a canonical transformation,

(bout(x) = ST(bm(x)S .

Since we are free to choose the out fields in the class of canonical equivalent fields,
we take the above relation to be our choice.

There is a simple way to determine S. We will present this now, but the
method works only for the case of an external source and cannot be generalized
to the case of interacting fields. So after presenting this method we will present a
more powerful technique that can be generalized. From Eq. (4.7) we have

STdin(2)S = din () + f diy GO (z-y)J(y)
~ (@) +i [ 'y [dm(2), b)),
Recall

eABe™ = B+[A,B]+1[A,[A,B]] +-
-B+[A,B] if[A,[A, B]]=0.

It follows that

s=exp|i [ d'yon)I )] (45)

It is convenient to normal-order S. Since [¢(*)(z),¢(7)(y)] is a c-number we can
use

eAeB — A+B+3[AB]
which is valid provided [ A, B] commutes with both A and B. So usingi [ d*z ¢ (2)J (z)
and i [ d*z ¢(*) (x)J(z) for A and B,

G = ] @8O @) () i [ A oD (2)0(2) 4 [ dhadty (60 (2),600 (1)1 (2) T ()
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From (2.10),
A(er—21) = [ (1), 60 (22)]

_ f(dk‘) ot (v2—21)

d4
(2m)*

and introducing the Fourier transform of the source,

e(kO)(s(k,Q ) —ik-(za—x1)

we have

[ d'zd'y [0 (@), 65 ()T (2) T (y)

[H(2 )49(k3 )5(kj2 2)j(k2)j(k3)fd4$/d4yeik?xeiki"yeikl'(y—w)

4,
<~ [ Gy I =) T T() = - [ (am)/ b,
where we have used J*(z) = J(z) = J(-k) = J*(k), and it is understood that
KO = Ej,. Hence,

G = i [ de o (@) (@) i [ d*x ¢ ()] (2) =5 [ (dR)T(R)P

As an example of an application, we can compute the probability of finding par-
ticles in the final state if we start form no particles initially (emission probability).
Start from probability of persistence of the vacuum,

out 000 = n(O1SI0)f? = exp (- [ ()T
Next compute the probability that one particle is produced with momentum k:
Jout (F[0)inl* = in(F1510)in]* = fin{0laz SI0)inl* -
where “in” in oy is implicit. To proceed we use
[ag, 6O (@)] = [ (@k)ag,al 1% = * (with K = Ey)
so that
e_i](b(_)‘]a,;ei[‘z’(_)“] =ag —i [[¢(_),a7€]J =ap +i [ d*ze™® J(z) = ag + iJ(-k).

Hence

out (BI0i = | T) P exp (~ [ (@)1 T}
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4.2.1 Phase Space

Suppose we want to find the probability of finding a single particle as ¢t - oo
regardless of its momentum, that is, in any state. We need to sum over all final
states consisting of a single particle, once each. Since we have a continuum of states
we have to integrate over all k with some measure, [ du(k). Clearly du(k) must
involve d3k, possibly weighted by a function f (7{) Presumably this function is
rotationally invariant, f = f(|k|). But we suspect also dyu(k) is Lorentz invariant,
so du(k) oc (dk), that is, it equals the invariant measure up to a constant. Let’s
figure this out by counting. Note that how we normalize states matters.

First we determine this via a shortcut, and later we repeat the calculation via
a more physical approach (and obtain, of course the same result). We want

Z |out<n|0>in|2 = Zin(0|n>out 0ut<n|0>in = 0ut<0| (Z |n>0ut 0ut(n|out) |O>in s
n n n
where the sum is restricted over some states. The operator

Z |n)out out<n|
n

is a projection operator onto the space of “some states,” the ones we want to sum
in the final state. We have already discussed this projection operator for the case
of one particle states when |k} is relativistically normalized. It is

JRaa

So we have
1-particle emission probability = f(dk)|j(k)|2 exp (— f(dk:)|j(k:)]2) .

Now we repeat the calculation by counting states. It is easier to count discrete
sets of states. We can do so by placing the system in a box of volume L,L,L..

Take, say, periodic boundary conditions. Then instead of [ (dk)(ay eth-2 +h.c.), we

have a Fourier sum, Y7 (a; ethE 4 h.c.). Here a; are creation operators with some
normalization we will have to sort out. For periodic boundary conditions we must
have k; L, = 2mng, kyLy, = 27n,, k. L, = 27n., with n; integers. We label the one

particle states by these, |1) = a£|0), where k = 27 (Z—";, Z—Z, Z—z) The probability
of finding [+/) in state |7) is |(7i[))|* if both |¢») and |fi) are normalized to unity.
(Note that this means [alg,a;] = Onant, Onynt On_ny ). The probability of finding [¢))
in a 1-particle state is then Y [(7i]i)[*.

Let’s be more specific. What is the probability of finding [¢) in a 1-particle

state with momentum in a box (ky, ks + Aky) x (ky, ky + Aky) x (k2 k. + Ak,)?
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_ LoLyL.
There are An,zAnyAn, = Gy

the spacing between values of & becomes small, so in the limit of large volume
Ak, — dk,, etc, and the number of particles in the momentum box is

Ak, AkyAk, state in the box. For large volume

L,L,L, A3k
Y2 Ak Aky Ak, > V——
(2m)3 (2m)3

where V' = L, L, L, is the volume fo the box. As we switch from discrete to contin-
uum labels for our states we must be careful with their normalization condition.
Since on the space of 1-particle states we have

ShNil=1 = Yla)ali) - i)
n n
then in the limit, denoting by |%) the continuum normalized states,

3
¥ G N = 1)~ [ PHEEE) = )

1% .
Gt Ot O = 6 (B = k).
(27_‘_)3 x Ty y Ty zTly ( )

Putting these elements together, the probability of finding |¢) in a 1-particle state
is

Sl > [ d k)R,

Finally, if we want to change the normalization of states so that (k'|k) = N6 G) (% -
k') then the probability of finding 1)) in a 1-particle state is

Bl -
—(k .
)
For relativistic normalization of states, N = (2m)*2E; and the probability is

[ @i

This is precisely our earlier result. Denoting the emission probability for n particles
in the presence of a localized source J(x) by p,, we have

po=e*, p1=E& %, where = f(dk:)|j(/::)|2 (4.9)
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4.2.2 Poisson

We can now go on to compute p,, for arbitrary n. Start with n = 2, that is, emission
of two particles.

e_if‘z’(_)“]oc,;a,;,eif‘ﬁ(_)‘] = e_if‘z’(_)‘]oefg ei[‘b(_)‘]e_if‘z’(_)JOé,;,eif‘ﬁ(_)J
= (a,; + ij(—k:))(a,;, + ij(—k:’)) (4.10)

so that B _ )

out (K E'|0)in = =T (=k) J(~k')e 2% .
To get the emission probability we must sum over all distinguishable 2-particle
states. Since |kk’) = |k'k) we must not double count. When we integrate over a

box in momentum space, we count twice the state |l§l%' ) if we sum over ky and ko
with values k1 =k, ko = k' and k1 = k', ko = k:

Ky Ky

N|=

Hence
p2 = 36%7¢.

The generalization is straightforward:

Pn = l,f" exp(=¢) -
n:

This is a Poisson distribution! Note that Y, p, = 1, that is, there is certainty of
finding anything (that is, either no or some particles). The mean of the distribution

is € = [ (dk)|T(R)P.

4.3 Evolution Operator

We now introduce a more general formalism to derive the same results, but that
will be more useful when we consider interacting quantum fields. We want to
construct an operator U(t) that gives the connection between the field ¢ and the
“in” field ¢iy:

¢(2,1) = U™ (t)din (&, 1)U (1) (4.11)

Since we are assuming ¢ — ¢i, as t - —oo, we must have

Ult)->1 as t——oo. (4.12)
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The S matrix is then
S = tlim U(t).
The time evolution of ¢ and ¢;, are given by

L@ =HO600] D@0 = How(0)6u(0] (113)

Here H = Hy+ H', where Hy is the free Hamiltonian and H' describes interactions.
In the present case,

Hy= [ d' [3n2+ 5(90) + dm?e?]  H'(1) = [ d*J(3,0)0(a,t).

Also the subscript “in” means the argument has “in” fields. So H = H(¢,m,J)
with H() = H0(¢, 7T) while HOin = HOin(¢in;7Tin)- From Eq. (411) we have

U () H(g(1),m(t), J (1)U (2)
= H(U ()¢(H)U (), U (O)m()U (2), U™ (1) J (U (2))
= H(¢(t), min(t), J (1)) (4.14)

and
8¢in 8
o (@1 = 5 [Us(@. U™ (1))
-1
= —¢U-1 + U¢dU +Ui[H(t),¢(z,t)]JU!
:%U Gin — ¢1n U +Z[H1n(t) ¢1n(x t)]

au
= i[—i—Up + Hin(t), ¢in(f,t)]
dt
Comparing with Eq. (4.13) this is the commutator with Hp;, so we must have

d
—id—gU_l + Hin(t) = H()in(t)

or

au
dt
The solution to this equation with the boundary condition (4.12) gives the S matrix,
S =U(o0). Note that the equation contains only “in” fields, which we know how

to handle.
We can solve (4.15) by iteration. Integrating (4.15) form —oo to t we have

Z(Hm H()in)U = —iHi,nU (4.15)

U(t)—lz—i[t dt' H. (YU (1)
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Now use this again, repeatedly,
t t
U(t):l—z'f dt’H{n(t’)[l—z’f dt”Hi’n(t”)U(t”)]

t 9 t t1

1-i [ dnH )+ (0 [ dn [ deH () HL(2)U ()
e t t1 tn-1

==1+ Z(—i)"/ dtlf dtQ"'f dtn, HY (t1)H! (t2)-Hi (t,).
n=1 —00 — 00 — 00

Note that the product H{ (t1)H], (t2)---H () is time-ordered, that is, the Hamil-
tonians appear ordered by ¢ > t1 > to-+- > t,. This is the main result of this section.
We can write the result more compactly. Note that

t t t t
f dtlf1dt2H{n(t1)H{n(t2):f dtngdtlHi’n(tg)Hi’n(tl)

The two integrals cover the whole t; vs to plane, as can be seen from the followin
figures in which the shaded regions correspond to the region of integration of teh
first and second integrals, respectively:

to to
4“ t1 + ty

For any two time dependent operators, A(t) and B(t), we define the time-ordered
product

A(tl)B(tg) t1 > to

T(A(t1)B(t2)) = 0(t1~t2) A(t1) B(t2) +0(ta—t1) B(t2) A(t1) = {B(@)A(tl) by >t

and similarly when there are more than two operators in the product. Then
t t ! ! 1 t t ! /
[an [ a0 (t) =5 [ dn [ dtaT () (1))
For the term with n integrals there are n! orderings of ¢1,...,t, so we obtain
. (_i)n ¢ t t ’ /4 I
Ut)=1+ 3 - ] dt/ dty-- f dtn T(HL (t1) L (1) H., (t)) . (4.16)
n=1 T —oo —oo —o0

o 1
n=0 n!

Ut)=T [exp (—i [; ar’ H{n(t’))] .

or, comparing with e* =3 z" we write
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You should keep in mind that the meaning of this expression is the explicit expan-
sion in (4.16). Finally, taking ¢ — oo,

S:T[exp(—i[: dtH{n(t))]:T[exp(—ifd43:7-[i'n)]
S:T[exp(i/d4xﬁgn)].

or, using L' = -H’,
Let’s use this general result for the specific example we have been discussing,
and compare with previous results. Use L{ = J(2)¢in(x). Then

S=T [exp (2 / dtx J(x)¢in(x))] .
But we had obtained
S = ¢ 3 oxp (1 [t J(m)¢in(x)): (4.17)

with € = %/(dk)\j(k)ﬁ as in (4.9). Are these two expression for S the same? To
show they are we need some additional machinery, some relation between T-ordered
and normal-ordered products.

4.4 Wick’s Theorem

In order to answer the question, what is the difference between T-ordered and
normal-ordered products, we consider

T(¢(z1)p(w2)) —:p(x1)d(x2):

Here and below ¢ stands for an “in” field, that is, a free field satisfying the KG
equation. For notational conciseness we write ¢; for ¢(x1, etc. Letting ¢ = ¢(+) +
#(7) and taking 29 > 2§ the difference is

(67 +60) (08 +657) = (01 657 + 6068 + 0561 + 07 +687) = [017), 057

This is a c-number (equals A.(xy —x1)). Taling the expectation value in the
vacuum we obtain, restoring full notation momentarily,

T(p(21)d(22)) = :¢(x1)p(x2): +(0T(¢(x1)p(22))[0) -

Clearly this holds for the more general case of several fields,

T(on(x1)Pm(@2)) = 0 (1) dm(22): +(0[T(dn(21)Pm (22))[0).
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Consider next the case of three fields, T'(¢1¢2¢3). Without loss of generality

0s 05 0.
take x7 > xy > w3:

T(p10203) = P192¢3 = P1(:p2¢3: +(0]T (H2¢3)[0))

Now, gbl HODYORHES (¢(+) + gzbg_)) ipap3:. We need to move gb§+) to the right of all of
the d) operators:

§+)2¢2¢3 P23 (+) + §+)a 2‘)]:¢3:+[ §+)7 3 ]¢2
where we have used the fact that [ 5”, 5[)] is a c-number. In fact, it equals

(0| (p16n)|0). So we have
T($16203) = d16205+:01:{0/T(6203)[0) + :62:{0/T($103)[0) + 6501 ($162)[0) .

Of course, :¢: = ¢, but the notation will more easily generalize below.
More notation, rewrite the above as

I I —
T(P1¢203) = :P1P2P3: +:010203: +:P1Pah3: + D123t .
where
I
¢n¢m = <0|T(¢n¢m)|0>
is called a contraction.
Wick’s theorem states that

T(p10n) = :G1dni+ Y i1 i"'¢] ‘P

pairs

(4,9)
1
+ Z (D1 bp ¢l Dt e

2-pairs
(4,9), (k )
[ —
¢1¢2¢3¢4 d)n 1¢n: +all pairings n = even

¢>1¢2¢3¢4 ¢n 90n_1¢y,: +all pairings n = odd

In words, the right hand side is the sum over all possible contractions in the normal
ordered product :¢1-+-¢,: (including the term with no contractions). The proof is
by induction. We have already demonstrated this for n =2,3. Let W(¢1,...,dp)

stand for the right hand side of (4.18), and assume the theorem is valid for n -1

: 0 0 0
fields. Then assuming xj > x5 > - > x,,

T(p1--pn) = 1T (d1-Pn)
=01W(p2,...,én)

= (07 + oW (o, )
= W (G2, hn) + W (2, 0n)y ) + [0 W (02, )]

(4.18)
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The first two terms are normal ordered and contain all contractions that do not
involve ¢1. The last term involves the contractions of ¢ with every field in every
term in W (¢, ...,¢,), therefore all possible contractions. Hence the right hand
side contains all possible contractions, which is W(¢1, ..., ¢,).

4.4.1 Combinatorics

Let’s go back to our computation of S. We’d like to use Wick’s theorem to re-
late T[exp(i [ d*z ¢in(z)J ()] to :exp(i [ d*x ¢im(x)J(2)):, and for this we need
a little combinatorics. To make the notation more compact we will continue
dropping the “in” label on the “in” fields for the rest of this section. Now,
Tlexp(i [ d*x ¢pin(x)J(x))] is a sum of terms of the form

" n in n
o f gd%:i Ji-InT(p1dp) = o [ Dl d4:z:¢ Jr I W (b1, .., 0n) (4.19)

Consider the term on the right hand side with one contraction,

1 n " | —
_'[Hd x; Jiodp Z (D1 i Py
n. =1 pairs
(4,5)
N, airs n=2 ]
- = f [T d*ei Ji T i1 s f Ao de' JJ b
: i=1

where Npairs is the number of contractions in the sum, which is the same as the
number of pairs (7,7) in the list 1,...,n. That is, the number of ways of choosing
two elements of a list of n objects:

n n!
Npairs = (2) = —2!(n_ 2)!

Let
¢= [ dzd'ys@) IO (@(@)s(u))0). (4.20)

Then

in—Q
1 pairing terms = —=

n-2
' i=1

We want to repeat this calculation for the rest of the terms on the right hand
side of (4.19). For this we need to count the number of terms for a given number of

contractions. Now, k contractions involve 2k fields. Now, there are ways of

n
2k
picking 2k fields out of n, and we need to determine how many distinct contractions
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one can make among them. We can figure this out by inspecting a few simple cases.

For k=1
M

12 — one contraction

and for k=2

sisissimisl
1234 1234 1234 — 3 contractions.

Instead of continuing in this explicit way, we analyze the k = 3 case using inductive
reasoning:

r m r
12x(k=2) 13x(k=2) - 16x(k=2) — 5 x 3 contractions.
By induction the arbitrary k& case has (2k — 1)!! pairings:
r
[(% - 1)—pairings:1j] x [(k = 1)-case: (2k - 3)11] = (2k - 1)1
So the terms with k contractions give

1 n!

n—2k — \k
———(2k -1 2k / d4 Z'] Jn, D1 Py :('2 f d4 d4 IJJI /)
n! (n- 2k:)'(2k)'( )i E ;1 2k }P1° P2kt | ¢ zd*z" JJ p¢

11 (-1)*¢*
(n—2k)! 2kk!

(4/2)k med4$ZJ1 T b1 bm:  with m =n - 2k.

Aha! We recognize this as a term in an exponential expansion. Considering
all the terms in he expansion of T[exp(i [ d*z ¢in(2)J(7))], the coefficient of
e T dry i Jin e (fixed m) is $720 75(=¢/2)* = exp(-3¢), and is in-
dependent of m, so it factors out. We are left with

ey /Hd &i ST p1- s = €17 ‘eXP(ifd%J(x)qb(x)):

mOm

That is
S = T[exp (z / dz d)m(I)J(I‘)):I = e exp (z[ d*z J(x)gb(a:))

This will equal our previous expression for S in (4.17) if ( = . To answer this we
need to know more about the T-ordered product in the definition of ¢ in (4.20).
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4.5 Scalar Field Propagator

Let
Ar(z,y) = (0T (¢(x)9(y))|0)

where ¢(x) is a real, scalar, free field satisfying the Klein-Gordon equation. This is
the quantity we need for the computation fo ¢, but it is also important for several
other reasons, so we spend some time investigating it.

First of all, iAp(x,y) is a Green’s function for the Klein-Gordon equation; see
(4.3). To verify this claim compute directly. Taking 0, to be the derivative with
respect to z# keeping y* fixed and using (9% + m?)¢(x) = 0 we have

(0% + m?)Ap(a,y) = (0 + m) [0 - 1) Ol (2)6w)I0) + 6" - )06 ()9 ()]0)]
2 2
= T80 060 + 0 - )06 ()o)]0)
<2200 - )00 22 10y + 2 L5000 a0l () 220
Now using df(x)/dx = 6(z) and Jp¢(x) = w(z) the last line above is

25(z° - y"){0|[7 (), 6()][0) = ~2i6 (z ~ y)

The line above that gives

10)

238 =) 0l16(), 6 ()]0} = =52 - 1) 0l[r(2), ()]0} = 85z - )
Combining these we have
(0% +m*)Ap(x,y) = —idW (z - y)

As we saw in Sec. 4.1 Green functions are not unique, since one can always add solu-
tions to the homogenous Klein-Gordon equation to obtain a new Green’s function.

We must have .
. . d*k ik-(2-y) 1
iAp(z,y) = —zf @i =Y pEp—

with some prescription for the contour of integration. Note that Ap(x,y) = Ap(x-
y) depends only on the difference -y, which is as expected from homogeneity pof
space-time.

Recall that [¢(*) (), ()] = (0|T¢(2)d(y)|0) for 2° > 3°. More generally

(OITH(2) ()0} = 0(a” = y*)[¢) (2), 67 ()] +0(5° - 2°)[6 (1), 0 (2)]
Recall also that

(60 (@).60 )] = [ (dk)e el DR G
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Without loss of generality and to simplify notation we set y* = (0. We have

(0T (x)p(0)|0) :g(xo)[(dk)e_mﬂo”;;@ +9(—x0)f(dk)eiEw°—i’5-fr

Comparing with Eq. (4.6) we see this is precisely —iGp(z), which was obtained by
taking a contour that goes below - FEj and above Ep,

Im(z)
_EE + 1€
X ~
| E,;i ie k% = Re(z)
So we have
O} = [ AE e L (1.21)
YIEr= (27)* k2 —m?2 +ie '

This will be of much use later. We will refer to this as the two-point function of
the KG field, and the Fourier transform, 1/(k% — m? + i€), as the KG propagator.
We can finally return to the question of relating ¢ to &:

- / d*z d*y J(2)J (y) (0|Tp(x) b (y)|0)

d*ky d*ks 1
_ d4 d4 zk1 T le yJ kDT (k f —zp~(:1:—y)
/ ey (2m)4 (271')4 (k)T (k) (27 )4 p? —m?2 +ie

——J(p)J| (—p)

d4
(2m)*

Perform the integral over p°, assuming J(p)J(-p) = |J(p)|? vanishes as [p°| - oo,
which is justified by our assumption that the source is localized in space-time.
Closing the contour on the upper half of the complex p° plane we pick the pole at
—-E} so that

m2+ze

3 i ~
c=2mi [ ST 5= [ @1TwP -



